EARAROBEEIERT — 2 N— IBISH —F

20155FE8H 198 (k) 10E&&HE2H

m OXEXE A H47%—#% ‘ [Xiz] 2 ‘ [ZEmSME]  — | & () 14000 FBE
[A&4£] 1% :1,000,000  ~ 23 :180,000  ~ 3#%&:70,000 M  43%&:50,000H / 5&:0H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— gy SHEKX :29. 22— . — $RRBEX (BHE)
N MEEEEESS: it 6 A 1(2_9)6 2-2-2-2 | 37.9 1 z:g;) e
w25 B:RNILTRCF BEH FHi
oy B4 | ABBE 1:29.8 1-1-1-1 | 38.2| — 6 432 | NIER (BHE)
217|7 /%4140 56.0 (1 1/2) +3) /J\ff/ﬁ;%
LYY G4TFR B:TUF AT H— Fht Fk
- . NREA : 54— - BEOE (BEE)
N . BEER Y it 6 A 1.(320>.2 3-3-4-4 | 38.1 4 (4_876) ﬁsgum
ANRINGR BT w27 ¥ 3% & A ERBS
3 4 3 | FEIEE 1:30.4 4-6-5-3 |38.3| — 3 475 | NIFER (BEE)
4(1|1|ShsLA el (11/2) (g | MIR=%F
R:TLHE—ZAE—FK B Ubg— o e
2 g s 7 | Ml 1:30.9 6-5-7-5 |38.8| — 7 438 | 5Bz (BEHE)
5 3| 7b— R Fx— 56.0° (2 1/2) (o) |THEFES
ARG R%— B:O—hU—TL-—7 KBS
= =3 s 4 | R 1:31.1 8-8-8-8 |38.4| — 8 450 |BETIE—5 (BHE)
6189 iy (o aba e 56.0 (1 1/2) (45) | BEEA
R:yA7% B:AYIARELF R
s, . 43 — BABEX (LHE)
2lsls|anszz7u—- it 5 A54_E'6§é 1.(341).9 5-4-3-6 | 40.1 5 ;1_710) o
LT RIA Y442 B RNILT R F BHOFR
S . B 3 | AMBHE 1:32.3 7-7-6-7 | 40.4| — 2 435 | FHRES (BEHE)
slglg|*EV—FIT> 5.0 ) 7)) | R vy uS5T
R:TUHA XTI R BXEY—LTq— A BE5A
N WHIA :33. -9-9- . — FHERE (BHE)
9 6lmt—5—HUJ it 6 B 1(353)4 9-9-9-9 | 40.6 9 (5+241) it
LTI NTST BTN KTSAIRIATLY REFHIS
® I—F—@EBIERL
13—7F— 7,4,2,1,5,3,8,9,6
Ao=5"= 7,4,2,5,3,1,8,9,6
3T—7— 7,4,5,2,1,8,3,9,6
41—F— 7,4,1,2,3,5,8,9,6
[ RN
B 4 260M 794K 4-7 590 & 4-7 2,530 &R 2-4-7 3,760
BB 4 140 2-4 210M B E 4-7 2,430 EE 4-7-2 14,520
7 380 2-7 1,460H B H 4-7 2,820
2 280

ABICOVWTRDTEEERROODE. TR LIV,




